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3.100 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
128.04  (KN/?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)
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CLP

(H)3100x (B)2150
0.120

K>

10kN/m?

3.100

H=

.260

B= 2.150

No.



§3
3.1
3.1.1
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
152.15 40.77 0.290 3.84 2.15 128.04 13.50 | 0.K.
0.358 1.50 1.50
e = 0.290

128.04

No.



3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
131.85 40.77 0.343 3.29 1.87 120.03 2.62 | 0.K.
0.358 1.50 1.50
TRIIR

120.03

B = 2.150

2.62

No.



3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 44.5 86.4
” o ) 0.01 x 10° 29.19 x 10°
3 3
S ™ 0.30 x 10 30.82 x 10
ogc 0.01 3.53
(N/mm*) o ca 10.00 10.00
gs 0.1 82.0
(N/mm*) o sa 160 160
T 0.00 0.14
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 6.5 D19 - 6.5
2
As () 1862 1862
X (mm) 86.4 44.5
M o ) 29.19 x 10° 0.07 x 10°
3 3
S ) 11.49 x 10 2.78 x 10
gc 3.53 0.05
(N/mm*) o ca 10.00 10.00
gs 82.0 0.6
(N/mm*) o sa 160 160
T 0.05 0.03
(N/mm*) T ca 0.45 0.45
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1.000 m
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x ¥

No.



4.2.1
@
1)
A X y A X Ay
(m) m @) | @ (m) (m) (m)
2.150x 3.100= 6.665| 1.075| 1.550 7.1649 10.3308
a| - 0.140x 0.100= -0.014 | 0.190 | 3.050 -0.0027 -0.0427
b|-1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
cl|- 1.840x 2.840= -5.226 | 1.180 | 1.680 -6.1667 -8.7797
d|-1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
e| - 0.050x 2.980= -0.149 | 2.125| 1.610 -0.3166 -0.2399
0.955 0.4462 0.8403
Vo=XA L= 0.955x 1.000 = 0.955 (m*)
V =Vo yc= 0.95 x 24.5=23.40 (kN) e
2ZA X 0.4462
X s A 0.955 0.467 (m) —
Ay 0.8403
y S A 0.955 0-880 (m)
2
1)
A X y A X Ay
(m) m @) | @m (m) (m) (m)
2.030x 2.980= 6.049 | 1.135| 1.610 6.8656 9.7389
a| -1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b|- 0.140x 0.140= -0.020 | 0.190 | 0.190 -0.0038 -0.0038
c|-1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
5.708 6.7171 9.4884
Vo=XA L= 5.708 x 1.000 = 5.708 (m*)
V. =Vo ys= 5.708 x 19.0 = 108.45 (kN)
2ZA X 6.7171
X s A 5 708 1.177 (m) |
IA Y 9.4884 ¢
y S A 5.708 1.662 (m)

No.



4.2.2
V =g b L=10.0x 2.030 x 1.000 = 20.30 (kN)
x =B -2 = 2150 - 200 4 135
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

=
I

3.100 (m)

Pa
O(W ; 72:28 EkN)m) [ 18.04] 0"
w = 59.80(°) 40,07 e ;
d = 0.00 (°)
@ = 30.00 (°) 30.0]
20.0]
10.0}
0% 4 50 go 70 80 90
w(®)
_ 71.19 x sin(59.80 - 30.00)
Pa = cos (59.80 - 30.00 - 0.00 - 0.00)
= 40.77 (kN/m)
nnnnnnmnnnnmmm
w Pa W
64.00 40.241 59.66
63.00 40.465 62.31
59.80° 62.00 40.635 65.03
61.00 40.726 67.78
60.00 40.761 70.60
* 59.80 40.771 71.19
59.00 40.731 73.48
58.00 40.628 76.41
57.00 40.461 79.41
56.00 40.233 82.49
55.00 39.925 85.62
V = 40.77 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 40.77 x cos( 0.00 - 0.00) x 1.000 =  40.77 (kN)
X = 2.150 (m)
y = 100 633 ()
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.150 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
q = > Mr - 2 Mo
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.150 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.150 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.
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5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 23.40 0.467 | 0.880 10.93

2 108.45 1.177 | 1.662 127.65

3 20.30 1.135| 3.100 23.04

4 40.77 | 2.150 | 1.033 42.12

b3 152.15 40.77 161.62 42.12
|
2
1 — 4
v
Fs - SV p +c B L 152.15 x 0.577 + 0.0 x 2.150 x 1.000
- SH - 40.77
= 2.15 Fsa = 1.5
s Mr 161.62
Fs = s Mo 42 12 3.84 Fsa = 1.50
R
S Mr- 2 Mo 161.62 - 42.12

d = sV ) 152.15 = 0.785 (m

R

e = 2 -d= 2150 0.785 = 0.290 (m)

0.290 (m) 4%7 B =

0.358 (m)



3)

o _
Q2

sV 6 e 152.15 6 x
B L g )7 o1s0x 1.000 F (1
128.04 (KN/m)
13.50 (kN/r?)
e = 0.290
!
!
i
‘ o
. mn
1 ot
i —

128.04

0.290
2.150

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 23.40 0.467 | 0.880 10.93
2 108.45 1.177 | 1.662 127.65
3 40.77 | 2.150 | 1.033 42.12
2z 131.85 40.77 138.58 42.12
2
E—3
1
v
Fs = >V p +c B L _ 131.85 x 0.577 + 0.0 x 2.150 x 1.000
- ZH - 40.77
= 1.87 Fsa = 1.5
2 Mr 138.58
Fs = s Vo 42 12 3.29 Fsa = 1.50
R
2 Mr - Z Mo 138.58 - 42.12
d = sV 131.85 = 0.732 ()
R
e = B -d= 2-150 - 0.732 = 0.343 (m)
2 2
1
le] = 0.343 (m) 5 B = 0.358 (m)
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o _
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sV 6 e 131.85 6 x
B L g )7 o1s0x 1.000 F (1
120.03 (kN/m*)
2.62 (kN/m*)
TRTBIR
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No.

6.2
6.2.1
1)
a = 2.92 () Ek&?m)
W= 0.73 (kN/m) [ 0.65] '
® = 57.00 (°)
5 = 20.00 )
¢ = 30.00 ()
0% 4o 50 36‘0 70 80 90 100
w()
B 0.73 x sin(57.00 - 30.00)
Pa = Cos (57.00 - 30.00 - 20.00 - 2.92)
= 0.33 (kN/m)
R nnnnnimnmnnnmmm
w Pa W
61.00 0.317 0.61
60.00 0.317 0.63
L““"-—--—--—---.l 59.00 0.322 0.66
58.00 0.320 0.68
* 57.00 0.332 0.73
56.00 0.329 0.75
55.00 0.330 0.78
54.00 0.325 0.80
53.00 0.324 0.83

17



No.
2)
Pa
a = 2.92(C) gri/my
W= 73.26 (kN/m) [ 19.77] '
w = 57.10C¢) =
5 = 20.00 () 30.0
® = 30.00 C°)
20.0]
10.0]
0% "4 50 60 70 8 9 100
© ()
_ 73.26 x sin(57.10 - 30.00)
Pa = Cos (57.10 - 30.00 - 20.00 - 2.92)
= 33.46 (kN/m)
nnnmnnmmm
w Pa W
62.00 32.816 61.15
57.10° 61.00 33.043 63.52
60.00 33.223 65.94
59.00 33.358 68.42
58.00 33.436 70.94
* 5710 33.462 73.26
57.00 33.462 73.52
56.00 33.430 76.15
55.00 33.350 78.86
54.00 33.204 81.62
53.00 33.001 84.46
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) ) ) (kN) (m
0.33| 20.00 2.92 0.30 | 0.033
33.46 | 20.00 2.92 30.82 | 0.947

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 0.30 (kN)
H y=0.30 x 0.033
= 0.01 (kN m)
H = 30.82 (kN)
H y=30.82 x 0.947
= 29.19 (kN m)

b = 1000 (mm) [0 0 0 0 0 © |:}5£

d = 80 (mm)

As = D19 - 6.5 ! 1000 !

= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 1862 2 x 1000 x 80

= 1+ /14

1000 15 x 1862
=  44.5 (mm)

M= 0.01 (kN m)
S = 0.30 (kN)
_ 2 M _ 2 x 0.01 x 10°
b x d- ‘%;’ 1000 x 44.5 x (80 - 444%;5,)
= 0.01 (N/mm*>) o ca = 10.00 (N/mm*) 0.K.
_ M _ 0.01 x 10°
- X - 44.5
As d - 3 1862 x (80 - 3 )

= 0.1 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 0.30 x 10°
~ b d 1000 x 80
= 0.00 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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No.

3]
N
b = 1000 (mm) 6 0 0o o o o |-V
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
= 86.4 (mm)
M= 29.19 (kN m)
S = 30.82 (kN)
2 M 2 x 29.19 x 10°
oc= x 86.4
b x d—T 1000 x 86.4 x ( 220 - 3-)
= 3.53 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o= M _ 29.19 x 10°
- X - 86.4
As d - 3 1862 x ( 220 - 3 )
=  82.0 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 30.82 x 10°
b d = 1000 x 220

0.14 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
|
1.890
A X
(m m ) (m A x (m)
1.890x 0.260= 0.491 0.945 0.4640
-1/2x 1.840x 0.140= -0.129 1.227 -0.1583
- 0.050x 0.140= -0.007 1.865 -0.0131
0.355 0.2926
A X 0.2926
X = s A = 0.355 0.824 (m)
S =A yc L= 0.355 x 24,5 x 1.000 = 8.70 (kN)
M =S x = 8.70 x 0.824 = 7.17 (kN m)

No.
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&)

A X
(m m ) (m A x ()
1.890x 2.980= 5.632 0.945 5.3222
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
5.503 5.2431
A X 5.2431
X = 5 A = 5503 - 0.953 (m)

S =A ys L= 5503 x 19.0 x 1.000 = 104.56 (kN)

M =S x = 104.56 x 0.953 = 99.65 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 1.890 x 1.000 = 18.90 (kN)

x
1]

0.945 (m)

M =S x= 18.90 x 0.945 = 17.86 (kN m)




©)
D

2)

Q:
Q2

Qs

128.04 (KN/n?)
13.50 (kN/n?)

g +

I,
(- ) B
114.19 (kN/m?)

= 13.50 + ( 128.04 -

1.890

1350 =50

(@ +q) I L ( 114.19 + 13.50) x 1.890 x 1.000
2 - 2
120.67 (kN)
I 2 g +q _ 1.890 2 x  13.50 + 114.19
3 o + O -3 13.50 + 114.19
0.697 (m)
S x = 120.67 x 0.697 = 84.11 (kN m)

120.03 (kN/n?)
2.62 (kN/m)

I,
O + (- Qz) B

105.83 (KN/n?)

= 2.62+ ( 120.03 -

1.890

2.62)x =g

(@ +q) b L ( 105.83 + 2.62) x 1.890 x 1.000
2 - 2
102.49 (kN)
I 2 g +q _ 1.890 2 x 2.62 + 105.83
3 o + O -3 2.62 + 105.83
0.645 (m)
S x = 102.49 x 0.645 = 66.11 (kN m)

No.
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7.2

iy
No S M
(kN) (kN m)
1 8.70 7.17
2 104.56 99.65
3 -120.67 -84.11
4 18.90 17.86
11.49 40.57
Mo = 29.19 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 8.70 7.17
2 104 .56 99.65
3 -102.49 -66.11
10.77 40.71
Mo = 29.19 (kN m) M
M = Mo

29.19 (kN m)




No.

o
b = 1000 (mm) 6 060600 0ol N
d = 220 (mm)
As = D19 - 6.5 1000
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 220
= X -1 + 1+
1000 15 x 1862
86.4 (mm)
M= 29.19 (kN m)
S = 11.49 (kN)
2 M _ 2 x 29.19 x 10°
b x d- Ag, 1000 x 86.4 x ( 220 - 82'4 )
3.53 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 29.19 x 10°
X - 86.4
As d - 3 1862 x ( 220 - 3 )
82.0 (N/mm*) osa= 160 (N/mm*) 0.K.
s 11.49 x 10°
b d = 1000 x 220

0.05 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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8.1

€))

O]

A=b

A=b

w
1]

h = 0.05

A yc L=

S x =

h = 0.05

A ys L=

S x =

0 x 0.120 =

0.006 x 24.5

0.15 x 0.025 =

0 x 2.980 =

0.149 x 19.0

2.83 x 0.025 =

0.006 (m)

x 1.000 =  0.15 (kN)
0.00 (kN m)

0.149 (m)

x 1.000 =  2.83 (kN)

0.07 (kN m)

No.
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3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.050 x 1.000 = 0.50 (kN)
x = 0.025 (m)
M =S x= 0.50 x 0.025 = 0.01 (kN m)
©)
D
g = 128.04 (kN/m*)
g = 13.50 (kN/m*)
Qs = Qe + (ql— qz) %Z 13.50 + ( 128.04 - 13_50))( (2):(])-28
= 16.16 (kN/m*)
s = (@ +9g) I L _ ( 16.16 + 13.50) x 0.050 x 1.000
- 2 - 2
= 0.74 (kN)
« I 2 g +0gs _ 0.050 N 2 x 13.50 + 16.16
T3 o + g -3 13.50 + 16.16
= 0.024 (m)
M = S x = 0.74 x 0.024 = 0.02 (kN m)



8.2

2)

D

2)

No.

G = 120.03 (KN/m?)
G = 2.62 (KN/m?)
G =g + (G- G) 44%3,: 2.62 + ( 120.03 -  2.62)x g:ggg
= 5.35 (kN/m)
. (@ +q) I L ( 5.35+ 2.62) x 0.050 x 1.000
2 2
= 0.20 (kN)
. l. 2 @ +g _ 0.05  2x 2.62 + 5.35
3 o + O T3 2.62 + 5.35
= 0.022 (m)
M = S x = 0.20x 0.022= 0.00 (kN m)
No S M
(kN) (KN m)
1 0.15 0.00
2 2.83 0.07
3 -0.74 -0.02
4 0.50 0.01
s 2.74 0.06
No S M
(kN) (KN m)
1 0.15 0.00
2 2.83 0.07
3 -0.20 0.00
s 2.78 0.07
s = 2.78 (kN)
Moo= 0.07 (kN m)

28



8.3

No.

[ 0 0 0 0 0 o |:33E

b = 1000 (mm)
d = 80 (mm) ‘ 1000 ‘
As = D19 - 6.5 ‘ ‘
= 18.62 (cm’) = 1862 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 1862 2 x 1000 x 80
= 1+ /14
1000 15 x 1862
44.5 (mm)
M= 0.07 (kN m)
S = 2.78 (kN)
2 M _ 2 x 0.07 x 10°
b x d—% 1000 x 44.5 x (80 - 4;"'5)
0.05 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 0.07 x 10°
X - 44.5
As d - 3 1862 x (80 - 3 )
0.6 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 2.78 x 10°
b d 1000 x 80
0.03 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



